CATEGORY -1I
PART -1

Child Development and Pedagogy
Question Numbers 1 to 30
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1. The learning curve given below indicates :

Rate of learning

Time

Progress of learning is increasing
continuously

Progress of learning decreases

Progress of learning is constant

Progress of learning decreases at the
beginning and then increases.

The extent and intensity of characteristics of

a person can be better obtained from :

(A)

(B)
©)

Check List
Rating scale
Opinionnaire

Interview
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A child of 10 years old has a mental age o

3. What will be his intelligent quotien
(IQ) ?

(A) 80

(B) 125

C) 100

D) 90

How many disabilities are included in the
List as per Rights of Persons With Disabilities
RPWD) Act - 2016 ?

>

(B) 21
(C) 20
D) 23

‘Knowing our emotions’, ‘Managing our
emotions’ ‘Dealing relations effectively’.
These three are related to :

(A) Interpersonal intelligence
(B) Intrapersonal intelligence
(C) Emotional intelligence
(D) Naturalistic intelligence

Who proposed the ideas such as Self
Concept, Ideal Self and Real Self in
connection with personality ?

(A4) Carl Ransom Rogers
(B) Sigmond Freud

(C) Wilhem Wundt

(D) Erickson



~1

enlaoyaier  eniyall (multiple intelligence) Who proposed the concept of multiple

)M  EDROOTOM  OalBemomOal intelligence ?
980 ?
(A)  ©anonIdUY podaImnd (A) Howard Gardner
(B) e0wnene #oQad : (B) Raymond Cattell
(C) cauemeeniduy (C) Sternberg
(D) @RS milem (D) Alfred Binet
8. / 'Im%ocﬁ,g“ alom aﬂ@tﬂ&‘iﬁﬁ@']m% 8.  Which of the following is not a Gestalt law
OO |SOT® aR® ? of learning ? '
(A)  moayury afleno (A) Law of similarity
(B) vodllaly dlomo (B) Law of proximity
Q) aldlaldol olono (C) Law of closure
(D) cumMALO dllao (D) Law of readiness
9_.,!’ aflenosmie) memmog alg) earwsmdl@ 9. Which among the following is not related to
OO SOOM® aR® ? the concepts proposed by Vygotsky ?
(A)  qodlatquo Qfle:om membelo (A) Zone of proximal development
(B) momlalldh qUO0MVdhIM]H alOom (B) Socio cultural learning theory
milavonmo
(C) quoeal alomo (C) Group learning
(D) @dle allom (D) Meta cognition
10. /(od ()@ @R d O 80 @ 216S 10. By repeating the process, the relation
€2l0BHOI0 (al@dHoemallo monleles between stimulus and response strengthens.
MIMWo  BIIDIdh 0. O®  aR® Which law is related to this ?
Mloaa@ow] mimweq|gldleniomy ?
(A)  uMAEL®O MHldo (A) Law of readiness
(B) aonel dl@mo (B) Law of effect
(C) @rapm mlono (C) Law of Exercise
(D)  al@lapdodl oflmo (D) Law of closure
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2.

13.

A child exhibit expertise in making maps and
playing musical instruments. What type of
multiple intelligences are exhibited by this
child ?

(A) Linguistic intelligence and musical
intelligence

(B)  Visual-space intelligence and musical
intelligence

(C) Bodily kinesthetic intelligence and
interpersonal intelligence

(D) Existential intelligence and musical
intelligence

The different stages in “Hierarchy of Needs”
proposed by Abraham Maslow are :
1.  Physiological needs

(]

Safety needs

Lo ]

Esteem need
4 Love needs

The order of these needs from lower level to
higher level is :

(A) 1,3,42
B) 1,432
) 1,243
) e B ey B

The learning disability related to reading
is:

(A) Dislexia
(B) Disgraphia
(C) Discalculia
(D) Autism
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Rate of growth is very high at infancy and
shows a jump at teenage. Which principle
of development is related to this fact ?

(A) Development is continuous
(B) Development is directional

(C) Development is not linear but spiral

(D) Development is the product of heredity

and environment

Concept formation takes place through
Enactive stage, Iconic stage and Symbolic

stage. This opinion was put forward by :

(A) Jerome S. Bruner
(B) Vygotsky
(C) Piaget

(D) Sigmond Freud

Which of the following is not a reason for
delayed motor development ?

(A) Unhealthy body

(B) © Excess nutritious food

(C) Lack of motivation

(D) Fear

Which of the following is not a life skill
among those suggested by World Health
Organisation (WHO) ?

(A) Self awareness

(B) Creative thinking

(C) Repression

(D) Empathy
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19.

20.

Which among the following is a projectiv

method ?

(A) Sentence completion test
(B) Sociogram

(C) Check list

(D) Questionnaire

The process of formation of strong an

interrelated cognitive structure by th

internal redistribution and addition c

schema is called

(A)
(B)
(©)

(D)

Maturation
Orgam’sation
Assimilation

Equilibrium

Some characteristics of a child are give

below :

.

Curious and ask many questions

Has his/her own ideas

Has enough vocabulary and conves

like grown ups.

Which category does the child belong ?

(A)
(B)
(C)
(D)

Hyper active
Gifted child
Slow learner

Normal child
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Odd one out of the following is :

(A) Rorschach Inkblot Test
(B) Thematic Apperception Test (TAT)

(C) Word Association Test
(D) Cumulative Record

In which psychological approach does the
following belong to ?

“Personality dynamics, structure of
personality and psycho-sexual stages”.

(A) Trait approach

(B) Psycho analysis approach

(C) Gestalt approach

(D) Humanistic approach

A child who have experienced the working
of toy cars with wheels will try to move other
toys having wheels. That is, try to
understand new situations based on existing
This is known

knowledge. process

as

(A) Assimilation
(B)  Equilibration
(C) Organisation
(D) Empathy

Name of the psychologist who related need
for affiliation, Power and achievement with
motivation is :

(A) Bruner

(B) Mc Clelland
(C) Vygotsky
(D) Ausubel
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A student got good score in unit test. Teack
give exemption to that student from writi
assignment of copying the lesson

notebook. This is an example of :

~) Positive reinforcement

(&5

Incentive

Punishment

)

D) Reward

Which of the following is not a characteris
>f infancy ?

(A) Smiles at own image in mirror

(B) Responds to own name
(C) Shows likes and dislikes
(D) Tells long stories

Which among the following are t

characteristics of a hearing impaired chil

Sit without attention

(ii) Do not respond to questions of othe

Observes the lip movement of peop

B

(A) (i) and (ii) only

(o}

(ii) and (iii) only

(1), (i) and (iii)

o

(iii) only
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30.

The disorder arise due to abnormal or less

production of haemoglobin is :

(A)
(B)
©)
(D)

Hemophilia
Sickle cell disease
Parkinson’s disease

Thalassemia

Language is a verbal behaviour. It can be

achieved by operant conditioning as any

other behaviour. This concept was proposed

by :

Albert Bandura
B.F. Skinner
Bruner

Vygotsky

The characteristics of a stage of cognitive

development is given below :

L ]

Can formulate hypothesis and analyse
them.

Rationally solve abstract problems.

Which is this stage of cognitive development ?

Sensory motor stage
Pre-operational stage
Concrete operational stage

Formal operational stage



CATEGORY -1
PART - 1

Mathematics

Question Numbers 31 to 60

31.  2)j016s 6d:0saldlenimaleiad agmosny
BlaI0RHS ag)@W (projected aid) ?

(A)  eoadlewo
(B) eseallaflaud
(C) esq] dlanodand

(D) 06) @enIodUl

32. GRUI alog) ala® 2igHnsiad, wmenilm
alomaTlen  (awom  9E3WMo
alOWM®) :

(A)  UEMMa|Gld DM IO0OMOLEED

(B) aldl®mosnes M@ a0 @15 @
&laflee0md (aloal®moEe)w.

(C) 2IOHHIVHEIOS alomo

9/ 2llm@ies eMlmOGdLHOEMo

33. andlm®io @RMIO®I0 &S| B0y @ 2 : 1
ag)M @ooweIMW ATl afl®l.olea]owd
a0 BlmWH @M ®ERHHOWD 1000 ©lal
BHISIO@ HG]. ag)esl@d @AlmQiss) Bl
af)® o loem ?

(A) 2000
(B) 1500
©f 1000

(D) 500

KB-2001

31.

32,

3.

12

Which is a projected aid ?

(A) Radio
(B) Television
(C) Tape recorder

(D) Black board

According to national curricult
framework, Which of the following is |
main objective of mathematics learning

(A) Learn multiplication table by heart

(B) To enable the learner to live in
society.

(C) Study of basic operations.

(D) Mathematisation of thoughts.

Haritha and Anitha divided an amount
the ratio 2 : 1. If Haritha got 1000 rup
more than Anitha, What amount did Ani
get ?

(A) 2000
(B) 1500
(C) 1000

(D) 500



34. ¥ = 5 @o@odd, x% ag)@@oen ? 34, If ¥ = 5, Then what is x2/ ?

(A) 10 (A) 10
W’s (B) 25
(©) Sy ©) Sy
D) D)
35. @oHWeMI®OTI6N ®)sdaj®io,  35. The continuation and generalisation of
rYODOMYUBEEEMOLYDOE arithmetic is :
(A) esd@meTimo (A) Geometry
ﬂl enflmenimo (B) Algebra
(C) oalpmilavonmo (C) Number theory
(D) audiaflaflaiesansmdeas) (D) Statistics
36. 1=12 86. 1=12
1+3=22 1+3=22
1+3+5=32 1+3+5=32
143454 ...+ a=100 143454, +a=1002
ag@ltd a = ——— Then a =
(A) 100 (A) 100
(B) 99 (B) 99
(C) 200 (C) 200

g{ 199 (D) 199

KB-2001 13 D




37. weml® &Homll@ aloemoaldeemem®  37. Themain purpose of using learning materi
8aleOUIlENMEIOM (IWOM HEFUO ! in mathematics class is :

(&) eoaReno EoTwnME (4) To reduce abstraction

(B) @eruom@ilon alimiaeden) Galensl

1_:;1

For novelty in teaching

()

(C) admoalemn @oedadienimalry For attracting the learner

(D) al0ORIMEMBWD MA® enUMUI®D0]

J

For finishing portions in time

@Rse MY
P Q
38
; 0 0 38.
D 32 68 C
a b
C
A
d
B
afl@emld £PDC=32° ZQCD=68" GR@o@d In the figure ZPDC=32° ZQCD=68°, ti
a+b+c+d ag@woeny ? whatisa+b+c+d?
f{) 200 (A) 200
(B) 100 (B) 100
(C) 160 (C) 160
(D) 360 (D) 360

KB-2001 14



39,

802X 802 M 4 O8N} aOBLOEMIOVIRR

Aladiso ag)@@oe ?
g
(B) 1
C) 2

(D) 3

A Q B

2l@@led ABCD ag)om rum.oleeosio
alegeal 64 2imewy emadldigoosn. AD

ies awiemflazialoem’ P, AB ®ies

awyenflazyaioem’ Q. PQC ogm
(@le-0emEsle altaleal ag@oen’ ?

W 24 2loEwy HMEAlgd
(B) 32 aimiowy ema@dgd
(C) 16 aimowy eVl

(D) 8 aimewy eau@lAIgh

KB-2001
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What is the remainder when 802 x 802 is
divided by 4 ?

(A) 0

A Q B

In the figure area of the square ABCD is
64 square centimeter. P is the mid point of
AD and Q is the mid point of AB. What is
the area of the triangle PQC ?

(A) 24 square centimeter
(B) 32 square centimeter
(C) 16 square centimeter

(D) 8 square centimeter



41. "0 8 Motldh8lns ®idk Heg 41

Mo6j@ol@lesio.”

OV ®mjo OHMEDH0M@IM 6 (alad]
omil@d @omIEoRMOW alomdlai ?

(A) @@mnamdle
\@/ pllesTtepliflol
Q)  ladMondlas]

(D) 21d.9jo o

42. &0) OO aldMYMIENT BIOYRISS®. 42.

100 ojn i0fes) @) laimvo 2 eealm

OWoMeM alafltd MO(@o ENVSOHHM.

enoslad alefllv aflads) agmwoeny ?

(A) 12%
(B) 3.65%

Q) ,7.3%

¥

@ 730%

43. 80} MIaN)RIROTIM alemoclw] o  43.

MYMEH06M 0D HeNzo@il@leanio ?
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“Sum of two odd numbers is an e
number”.

To prove this principle, in primary clas
which learning method is suitable ?

(A) Inductive method
(B) Deductive method
(C) Lecture method

(D) Discussion method

Given below is an advertisement of a ba

'Only 2 paise simple interest for 100 rup
per day.

The interest rate of the bank is :

(A) 12%
(B) 3.65%
(C) 7.3%
(D) 730%

What is the maximum number of ac

angles that a polygon can have ?
(A) 3
(B) 4
C)Y ¥

(D) 10



44.

45. 25 21gd/eavanad’ eUMOTIE 45
eRIBlHNIM B0 QoMo B0} MeNleed
BHOMNE ag)(® B0 MVERGIENL0 ?

7
(Ay/§0 Hleaodlnd
(B) 89 alealoallnd
(C) 25 leelodlnd
(D) 50 #sleiodlind

46. a, b, ¢, d, e f, g agml 7 MoalHaIOS  46.
OOndl 28 @pem. @ EBEOED
4  Moalidh8les wodwal 25 o
@OQUTVOMEED 4 MOEHRIOS U] 30
Qo @DEM. af)MHI@d d op®
moa@o6T ?

w?:
(B) 25
(Q 26
(D) 30
KB-2001 17

‘milavomm wleeomenl’ ag)M alymdso  44.

)P ®OE ?
(A) @poEgMD
(B)  (eUadal@mm

M BOMIc0.2 100

(D) @omom g

Who wrote the book ‘Sidhanta Siromani’ ?

Aryabhata

(B) Brahmagupta

(C) Bhaskaracharya

Ramanujan

A vehicle travels at a speed of

25 meter/second. How much will it travel
in one hour ?

90 Kilometers
(B) 89 Kilometers
(C) 25 Kilometers

50 Kilometers

The average of the 7 numbers a, b, ¢, d, e, f
and g is 28. Average of the first four numbers
is 25 and the average of the last four numbers
is 30. Then what is d ?

(A) 24
(B) 25
(C) 26

(D) 30



47. x2-y? 80} @PE0L) MVoa @I, ag)Escd
21)Q16S 6HIS)ETISIes @ oI
(e II®OCUM aR®oeNy ?
(A) x—y 80} @RI, MVoR)I6NT.

(B) x+y 80} @0EILK) MoR@O6T).

© x+y , x—y ogomlal @PEOR
MOEL\BHE06M).

(D) x+y, x—y HOAUNQIMo @OEOR)
QCTOT]EE:Y =T

48. 0.4 oM afi®}] M6 OB06MB) U1I6N.2Jom

0.002 #15i0 ?
1
(&) 700
_ 1
(B) =5
1
© S0
(D) 500

49. 2]jQleS 6kIS)EISIenIdd ap®oe 5
2RISHETBID MO@DER MU0 ?

(A) 620
(B) 625
(C) 630

(D) 635

KB-2001

47.

48,

49,

18

If x*—y? is a prime number, which o
following is true ?

(A) x—yis a prime number
-

(B) x+yis a prime number

(C) x+yand x—y are prime number

(D) Neither x +y nor x —y is prime

Which number is to be multiplied 1
0.4 to get 0.002 ?

et |
) T00
(B) :_ﬂ

1‘7 200

(D) 500

Which of the following number has or

factors ?
(A) 620
@/625
(C) 630

(D) 635



50.

51.

52

53.

2))IOS OHoSiaTIgesl ery  50.

Q5@ 8HOMEWIOHM  CHOMIHBIOS
@DOUVENITWO @REJITIHE®® ?

(A) 4:5:9
(B) 3:4:7

(Cy+ 23

o w
N w

(D) 5:

21)016S
wemlmomieel
@OLIITHEO® ?

(ol (1 @O G U0l

(A)  (dUdM al@lanemo
(B) el aflmmo
(C) wemmo

(D)  UO@OMYNUBHOHOEMO

BUoVOAIOM  qV(MIBOIWo
Mo@ILIM@oeT ?

(A)  @pomileaies
(B) @on@®IQOeS
(C)  GOODIBHOMIOS

(D)  ©6al®mEmNICIRnIOS

21)Q16S 60O ENMAUI@ apmoeny  53.

1729 o @yeljegloem @ ?

(A) 103+93
B) 128+13
(C) 19x91

(D) 113+73+53

KB-2001 19

OHos)omIClanymall@  51.

@D0)eS 52

?’-T;‘\ {B.‘ t\\:“\ ‘ ,ﬂ.\~ :‘;’3 ‘\

Wk _..:\"‘,;‘.5\" S \ e
Which of the following is not the ratio of the
angles of a right triangle ?

(A) 4:5:9
(B) 3:4:7
(C) 2:3:5
(D) 5:6:7

Which of the following is NOT a process skill
in mathematics ?

(A) Problem solving
(B) Logical reasoning
(C) Multiplication

(D) Generalisation

Denary system is the contribution of :

(A) Arabs
" Indians
(C) Romans

(D) Pythagorians

Which of the following is NOT equal to
1729 ?

(A) 10%+93
@) 123+13
(C) A9x%91

45{ 113+ 73 + 53



54.

55.

56.

“elalmo  oeng HoQIEBB OIS
MIBEDOHHN00 : MEMI®o  alClde)idb,
menl@o  aldlaflenis.” OH®OOIOS
QOBOIHB06Y ?

(A)  @o@omERad
(B) gl
©

(D)

cso_Joqurgom%

woImy

OAIWEMIUI ag)M QUISSIM VAIMMO® 55

QUOBEY amoemy ?
(A) vvomMi(®o
(B) el

(C) audlmoal

(D)  @ELYOAId:MD

B0} MoYEWIS @EIe i H)SWeq ot 56.

30 &g ag)@sl@d o6y :
4 .
(A) 30 om 5 oM.

(B) 30 &xQ 4 osevE06M.

(C) 30e6M @M.

MSEROEM).

(D) 30 o

b= | o

KB-2001 20

Whose words are these ?

Which word is equivalent to pedagogue ?

.(_'
)

ife 1= made beautiful by two things :

dving mathematics and teaching it”.

Science

Learner

(DY Teachex/

1
When — of anumberis added to the num

30 is the answer. Then the number is :

.
(A)

(B)

(O

-



57.

58.

59.

60.

80} MAalodw] (@ eHoMmATIOR &0]
areriem dge 8 amdlalgoie aegom
anowlen mlge 4 emaglalgoiaoem.
anaflom 2igaal ag)@woem ?

(A) 16 ecoglalgd
(B) 20 emaglalgd
(©) 10 emaBlalgd
(D) 32 eavaglalgd

a+100 > ax 100 &S060® a B0} ag)eN@
V06O, ag)El@ a @es allal :

(A)
(B)
(€
(D) 10

-

]

323 e} adwo :
(A) 6x®
(B) 9x°
(C) 6x°
(D) 9x6

@RRIEE® 2022 003 ag)eN@ MVoElBRINS
®iBHOI0, BOEIOO® 2022 B8Q of)enad
MoBUHRIOS  Hd®io  ®atleas
Q@00 ag)@®@oem ?

(A) 2022
(B) 1011
< 0
(D) 1

KB-2001
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n

n
a0

59.

Two of the sides of an isoceles triangle are
8 centimeter and 4 centimeter. What is its
perimeter ?

(A) 16 centimeter
(B) 20 centimeter
(C) 10 centimeter
(

D) 32 centimeter

a+100 > ax 100 and a is a natural number.

Then ais:

Square of 3x7 is :
(A) 626
(B) 9x9
(C) 6x?
(D) 9x°

What is the difference between the sum of
the first 2022 even counting numbers and
the sum of the first 2022 odd counting

numbers ?
(A) 2022
(B) 1011



CATEGORY - II
PART -1
General Science
Question Numbers 61 to 20
61. o@@llom aloalomoaIoe @pomiesosns ? 61,  Ammstong was the exponent of :
(4)  awoadgend @l (A) Dalton method
(9/ a0l @] (8) Heauristic method
(©) (BN al@la0on @@ {C) Problem solving method
(D) alavel dlol (D) Project method
62. “‘@BOMO loGMO0’" af)M allV®dho 62. Who wrote the book “Genera Plantarum” ?
af)PIBI®mOoEN ?
(A)  @rdlegogl@d (&) Armseotle
(B) e6nid®mo @M a0is0d {8) Benthem and Hooker
(C)  aoaflddaventd (O Hmachinson
\(9)/ eflerm@amy (D) Linnacus
63. step not included under Herbertian

63. eanbemidafl@m cpigeBElad oo~

SOOM®) :

(A)

5
—(8)

(©)
(D)

KB-2001

e #06mo

afleoqomo

(@ IGQOWo

@U@ oemo

{A) Preparation
{(8) Development
{C) Application

(D) Presentation



64.

‘ 65.

66.

afla)oBJ0MY AlEHIETBWD MVIHAI® O]~
HHMBImowf] allajoei@o (aIE@ORM-
OQS}AMIMM  HDOEMo  @OMYEETBHD
@.2ldem ®jalo :

(A) ald0 allNmdho

milelenumy’

(B)
.(C)/ 00y lEL

(D) @PUIOAIHEOS alOM MO

@oeQodlss maUd 20 GO 8O)
esomle) M ecpll@d  ag®
EDRIBEISOMIBWD OeNns ?

(A) 5

(a0

(D) 18

RSEleRCI® oM af® ?

(A) pH=115
(B) pH=85

;tj/ pH=13

(D) pH=75

‘ KB-2001

23

64.

65.

66.

Totality of all experiences which are utilised
by the schools to attain the aims of education
Student text

Syllabus

Curriculum

Teacher text

How many electrons are present in M shell
of an element with atomic number 20 ?

(A) 5

Which of the following is the strongest
base ?

(A) pH=115
(B) pH=8.5
(C) pH=13

(D) pH=75



67.

68.

69.

70.

2ljales m@daloldenmadia aggale 67,

SO EDRETBRD agaiener ?
(A) 18 g H,0O
(B) 18gO,

),

(D) 18 g CH,

18 g CO,

RNA oaatodlafleoenisyma :
(A) ewodudl vudlmo
(B) odomo

59/ 2dmBo

(D)  esomiEale

SISlBDB agommgioo emslalg agmmy  69.
afldepaileanimm ewowsaoen :

(A)  Glolosumogylds CUROWEo
(B) milallewnowdso

(g)/ mleom @uowWdho

(D)  a@dd GUaOWEB:0

“Oalawenodl” agm absdlon eedmo :  70.
(A)  @iglow amqileosnd
(B) gl aflaidieomd
(C) #Mmglo meileandd

(\D}/ #5160 aldlalenad

KB-2001 24

Which of the following has maximum
mumnber of atom ?

(4) 18gHO
(B) 18g0,

© 1BgCO,
D) 1BgdH,

The rRNA is produced in :

{A) Golgibody
(B) Nudeus
{C) Nudeolus
(D) Gytoplasm

The test which determines what the students
have not attained :

(= Prognostic test
(B) Achievement test
O

(D)

Diagnostic test

Unit test

The word “Pedagogy” means :
(A) To understand the child
(B) To evaluate the child

©

(D)

To lead the child

To educate the child



71.

72

73,

£6MSlan®ilens mI0HSIdlw :
(A) MIOOD OOMSROM OOM(SRM
IOWHMETBROSES] MOQI],.

(B) GalogSIM}He8 @OER0MIQ @YHE
@ORIOM.

(C) OOMEISRIHO] MM OOM(SRM]-

BHRIHE] HOURMY 6.21Q)IOM,.

(D‘)/mcsmosm'lcms)@ OME(SRIHROBEI]
BB MileeaLm .21QJI0M].

eenigl ik Mldalenom EaIanemBaIeSsS
Yoloy malleuay YEMMO6M’
£ IBWOUIlEOIM® ?

(é)f ;ITG)GDOGGTT)O(Eﬂ al
(B) moellemilefigl
(©)  awsleld]
(D) 2loeldh®

mySeOMm  emoo mleno

aldq)alleaymae :

alelm

(A) Bwmlo
(B) &Rabmjadie enleialio

(Q{ enlelo

(D) ®90aloloridh®m

KB-2001

25

2.

73.

Nitrifying bacteria :

(A) Convert free nitrogen to nitrogen
compounds

(B) Convert protein into ammonia

(C) Reduce nitrates to free nitrogen

(D) Oxidize ammonia to nitrates

Which characteristic of metals is used for
making bells ?

(A) Sonority
(B) Malleability
Ductility

Conductivity

Newton’s first law of motion defines :

(A) Inertia

(B) Both Inertia and Force
(C)

Force

(D) Thermal conductivity



74.

75.

76.

7.

ooHmsloal ol o@ele’ ©6oa0n- 74,

6Mmmogy ?

( flgouAl@l crvonud]

(B) @wogm cuul

(C)  aslar quoudl

(D) eml afevsym qomud

MVOQILOEBIOL oR® (aoEwleloem 75,

alsellay eeadealo #5.0@ oea® ?
(A)  enW@

(B) alpowo
( IIE:N
(D) ®ail

60} alcgl) MR aldlwerlenotm® 76,

oGy ?
(A ®oqf
(B) oo pwdemmaimes cemuy

©) &q]

(D) egald 66l

MIEL-0800Uld5 G000 el 77,

oalesies Higlwies alenimiomilead
Mo allemmenion eoaenmaeimes
afleocimo® afleidloyemad daloosny :

(A)  mogllafoad esgy
(B) sMomoaiio
~ ojeyafidemwo

MR (NABIW

(©)  opflenem ogey afldepwo
(D)  Moad meyriidepwo
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The joint in the elbow is an example of :

(A) Hinge joint

(B) Ball and socket joint

0

Pivot joint

t;‘j

Gliding joint

Which of the following planets of solar
system has the longest day ?

A) Mercury

B) Jupiter
(C) Venus
(D) Earth

Which of the following is not considered a

simple machine ?
(A) Wedge
(B Lever

Pualley

C
(D) Wheel barrow

A broad method of assessment meant to
evaluate the all-round development of the
child's personality including scholastic and
co-scholastic aspect is :

(A) Achievement test

(B) Continuous and comprehensive
evaluation

(C) Formative evaluation

(D) Summative evaluation




78. &r) almimalen mom negl@odieh@lo  7S.
@@ OM (alCUWo ald @il BRE:IHD0
621U @B :

(A},»mmcmg,@arm rileledo8810mM;)

(B)  gpegl@odhimy

(C)  aldr@l@od My

(D) moellegl@odsymy

79. dlewo afl Brlcoodl@ @on ©ajesos]  T79.
MsSmM Qdao :

(A)1992

(B) 1987

(C) 1990

(D) 2002

80. oIS OHOS)OWIBIs6M  80.
@O UM o &1 @D ag)glowflea|ovio
REIQIV® R ?

(A) 80} @oaOWI@ ®lel ageno
EDRIBE(SO6MIEI0 Glal0BZOEMIHEI0
86NE.

(B) &0, @ogewlm ®ey agepo
EDRIBB(SOMdhGIo MIIGISIEMIHEL0
6.

©) e} eogewlc ®iey agemo
@(aJ0BZ06M BHRI0 MYIB(SOEM b0
OENE.

(D) e} @dgeTln’ @y ageno
EDRIHBSO6MIBRI0, Blal0BZ06M a0,
MBSO Rlo HENS.
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If the mass of a body is doubled and its
velocity becomes half, the momentum of the
body will :

(A)

Remain same

(B) Become double
(C) Become half
(D) Become four times

The earth summit in Rio de Janeiro was in
the year :

(A) 1992

(B) 1987

(C) 1990

(D) 2002

Which of the following statement is always
correct ?

(A) An atom has equal number of

electrons and protons

(B) An atom has equal number of
electrons and neutrons

(C) An atom has equal number of protons
and neutrons

(D) An atom has equal number of

electrons, protons and neutrons



81.

82.

83.

®M@I(@HBIOS WLOOB®MO 212iMo M)Llo
®oalo OO BHMOQo &1
(JUR@mMMo6T

(A) aloeimo
B aflesloemo

@// MoOadMo

(D)  aflanyauad

RRIODIROS 6OQIRYDI dhserialsiemion
MSHNIM A (alUBEDMo
afleonedildd pBeqsym; ?

(A) @PeR0o

cﬁielsmo

(C) mocWoRH

(D) allafleaismo

dmo  &gallslaniemiod  agllon
lad B ED N Mo LI 6 eeanen/lo,
eeanEniiemormd @l mogeqisimae ?

(A) eo@le@omiad
(B) (Badgﬁ)&lggcﬂa@

(G)/sicmonﬁlo%

(D) allgodiad exe

KB-2001
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81.

82.

83.

Lransfer of heat through actual movement

of molecule is :

{A) Conduction
(B) Radiation
{C) Convection

(D) Diffusion

What fype of chemical reaction take place

when electricity is passed through water ?

{A) Displacement

(B) Decomposition

(O Combmation

(D) Double decomposition

During clotting of blood, fibrinogen is
changed into fibrin with the action of :

(A) Antithrombin
(B) Platelets

(C) Thrombin

(D) Vitamin K



84.

85.

86.

S’ a@® ojelseEland (iafleo @en ? 84.

(A) cidaud

(D) emelrlwo

e@mdlo) Elowloloa ool alowym 8
alosll gl ad a@®oem’
8l 24606l A1 allomuoslow
Gatoadla fleeimae ?

(A)  agallewddlmy
(B) agmewoniimileo

©

DWWy 10gdldntd

saflgo

80, 00umgls’ esmoqumien myall  86.

af)Rjowiealovio apa) dlvolaoeny ?
(A)  alSlenmoc
(B) emHs)

DNPHE)

QUSHE)
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un

‘S’ is the symbol of which element ?
(A) Silver
(B) Sodium

(C) Sulphur

(D) Selenium

Which of the following layers in the wall of
an anther nourishes the developing pollen
grains ?

(A) Epidermis

(B) Endothecium
(€) Middle layers
(D) Tapetum

A magnetic compass needle always points
in which direction ?

(A) West
(B) South
(C) East

(D) North -



87.

88.

89.

90.

UM ®#0810s allay@io olaudmmmyo
@YUBdWMo mocallo®mionow
(ailenfloenio @jaflle:dlenod &¥wymm
rs('bg:Ismo @ ?

(éy @de:om’bcsca:o_r ada emo

- c;oeaom%amce;m @Ebgismo

momel ra&sgdsmo

(D) @06eMaedhaljo
BRqlememd

B 06MD6) (L (VY0
OM(STM ®MOI@WIOL!I POTVENITMLMO
(A)  a@d eniawmo

(B) @oewoemls: enimumo

(C) aflenumumo
‘(95,

O6OQIBYEMOdROEMIOM OIS d
el :

(A) e

(J HIBRI0NI0T 60U
(©) awng

(D) myugend

@leniawmo

®O6Y 66053 AlHIMAUDI® LMD
@RLJOED®) a6y ?

(A) oodzzedlo) ey @=id even.
(B) @reydlaioo 6wy eeioanmoeny.

(©)  Glatoegoem easomiiglal alodzmias
B30} HEMSldQo6N

\([), GRIOADETBRIOS BIdH 66TV IHROEN
BENIMUld” B0EHOOTVA .

KB-2001

87.

88.

89.

Which mirror can produce a virtual, erect
and magnified image of an object ?

A) Concave mirror

(B Convex mirror

(C) Plane mirror

D} Both Concave and Convex mirrors
Chemical bonding in nitrogen molecule :

{A) Smele bond

B) Jomic bond
C) Double bond
D) Trpple bond

Lommercial onit of electrical energy :

(¥
g
8l
A
g
B

Which of the following is not a fact ?

(A) Joule is the unit of Energy
B) Aluminium is a metal

C) FProton is a positively charged particle

(D)  Oxides of metals are basic oxides




34,

31.

32.

33.

CATEGORY -11

PART - 1

Social Science
Question Numbers 31 to 90

2011 e@qUMOVM  (aldh00o DM@
ARQI0  HISIOE  LMIVI(MB®QIES
MoMNIMo oIy ?

(A) eH80
(.B)/ @mal$mos
(C) almieo)d

(D) alvala entotowd

210Ies maHageanioid@ @om qaom
(a022oem®) afy®) ?

(A) 62010Q)

(B) e

(C)  coyencd

(E)) Qoo

“erlanqumoggo” munoallo e @pd ?
(A)  alemuil® E@oeIof

(B) ezxailenio aneel

(C) afleawellomo

&

BOMOUBSIM
ms@mooeeﬂ@mi‘ :

(A)  aflefo eeni@les (e}
f
(pf AW@aODM (al@]

(C) ealgiyl (i)
(D) &anmdl anodausloded

S

09220 N00GAMIaNM OO

miepowm mlwao
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31.

32.

33.

34.

Which is the highest densely populated state
in India as per 2011 census ?

(A) Kerala

(B) Tamil Nadu
(C) Puducherry
(D) West Bengal

Which of the following planets is NOT a
terrestrial planet ?

(A) Mars

(B) Mercury
(C) Venus
(D) Jupiter

Who founded the ‘Brahma Samaj’ ?
(A) Pandita Ramabai

(B) Jyotiba phule

(C) Viresalingam

(D) Raja Rammohan Roy

The Doctrine of Lapse was introduced by :

(A) Lord William Bentinck
(B) Lord Dalhousie

(C) Lord Wellesley

(D) Henry Hardinge



35.  @aOOMImMOm agigo mudlaieaiguma 35. Great Bath is situated in :
(A) eeo@ (A) Lothal
(E/ £M0aNMERIBIOMO (B) Mohenjodaro
(C)  anongy (C) Harappa
(D) enunaoel (D) Banavali
36. @600 aleMUAIOGNVE alELE] 9VM@  36. Second Five Year plan gave emphasis to :

N Q® :

(A) . H0datlld ca6el

rd

y{ oalmoelss eaelel

A
tA)

Agricultural Sector

(B) Industrial Sector
(C) emaum caslel (O) Service Sector
(D)  soale@omiag) (D) None of these

374 " p®(myo ag)ed 2moaIsomnoe, @e@  37.
MO BMSIH ®OM 6.2IQl0.”’ ag)am
(ITU®OAIM @ROYES®OET ?

Who made the statement that ‘Swaraj, is my
birth right and I shall have it’ ?

(A) @l eniaveg (A) Annie Besant

(B) ©o@MIO@] Maieno] (8) Dadabhai Naoroji
(gf' 6111081 1oMIWD ®eids (C) Bala Gangadhara Tilak
(D) adlenoqo ato camm (D) Feroze Shah Mehta

38. ajiales mAsldgieanidi@ gowndes  3S.

Which one of the following is NOT a cause
ﬁommmgomﬁ aR® ?

for seasons ?

(A)  (B@eMo (A) Rotation
(B)  al@lid@6mo (B) Revolution
©) eflows erojmenden aidlal (C) Inclination of the earth’s axis

1)
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cil@ies @oapmenden Manne® (D) Parallelism of the earth’s axis




39.

40.

41.

42,

AN O OIS
OB0SMS]

agglio

(A)  eawow eenig
(B) &atommys]
(C)  @rmmi®mmS]

F 4

@)  @eommE

®06¥ 60 OTIBlEMAUDI D ehoamDfl-  40.

08  AlEMIEIN® QMO ED @
OWDOQSOEDE aR® 7

(A)  HOHVUEI QYOIMOO

(B)  eesomdl aljumowoe

< .mﬂmc@‘ QYUMo

(D) #»d ayaimowe

®O6Y
UNDP ®Qo00s6)ma agymoens’ ?

(A) evdls  Hlalle  viemaleicioe
rogafles.

(BL” @omau aflésmom vyl

(C) @omal quemmoay ogafls

(D) @0mal codl@y aogallds.

"Dmy@es @M@io vmud agaima” 42,

)M (IRMIBROW al)i®dho ©.aflajw
@6 ?

(A) agpo. ag)md. enow)
(Ba/ agyo. aflewjwjoy)
(©) 2RO HMasny]

(D) GosoeI® mMauenoed
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pwonles  39.

oS o dleoimailad 41

The highest peak in Kerala :

(A) Doda betta

(B) Ponmudi

(C) Agasthyamudi
(D)  Anaimudi

Which of the following is not a traditional
industry in Kerala ?

(A) Handicraft industry
(B) Handloom industry
(C) Cement industry
(D) Coir industry

Which of the following is prepared by
UNDP ?

(A) Physical Quality of Life Index

(B) Human Development Index
(C)  Human Happiness Index

D)  Human Poverty Index

Who authored the famous book “Planned

Economy for India” ?

(A) M.N. Roy

(B) M. Visvesvarayya
(C) Jawaharlal Nehru
(D) Dadabhai Naoroji



43.

44,

45.

46.

QRRAUC HBMo B0 BVl : 43,

(A)  oofl@d
(B) dmoml
(J BOIGHEO

(D)  Uleoasmbelo

15 adlivdl  wldleimalo’
@OAIMRIRIQ VAW :

_QA/)/ 60 dflodly
(B) 15 dledlg
(©) 120 dloflgy

(D) 30 dlloflgy

Qflz@mme mo@ogie mnoallojd 45.

M aodladomyo musnmio
(B) entoeninlo @odsenioloe
(©) dBlasgdlgo enosioefl aflvaimolngo

(D)  @omREORMIc EOER(O3M0

213QU6S
Alossl@ oo &isloema ?

(\.ﬁ/ ' adlno.0id
(B) adlmo@
(C)  milauoefss

(D)  apdoaim
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clolWes 44,

n@dslolgias  odlooeid  46.

The thinnest layer of the earth :
(A) The Mantle

(B) The Core

(C) The Crust

(D) The Lithosphere

To turn 15 Degree the earth takes :

(A) 60 Minutes
(B) 15 Minutes
(C) 120 Minutes

(D) 30 Minutes

The \’i_iayanaga:é Empire was founded by :
(A) Harihara and Bukka

(B) Babur and Akbar

(C) Shivaji and Balaji Viswanath

(D) Raja Raja and Rajendra

Which among the following ranges of the
Himalayas is higher ?

(A) Himachal
(B) Himadri
(C) Siwalik

(D) Purvachal



47.

48.

49.

50.

BRI QPalom Mocaism laiafldd aim
Qoo :

(A) 1991
@ 1995
(©) 1997

(D) 2000

‘@odHenId Mo’ ag)om (leoTalg iy}
A oIQf®IONOP CalierDP)®b.

(A) @oad enflord
(B) eneniad eru@m o
(C)/ @oeny@ anmoad

(D)  entoenud

ladUdESleeH @regslad adlenis’ agom
REOUdHI0 IMLe]SIAlenM@) :

(A) VEoaY al(m3esrIoMmy
‘(.Bfl Da0OEMO NOMUS]
(C)  emoalorlidjntem Gmo6UeEl

(D) enflafld al@3alomd

80) weimelle Blaisemldd aemm Moo
mvgadlafleanymae :

(A) aumo

(B/ dhyadle)all

(C) alo¥E)al

(D) =elnn®o
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47.

48.

49,

50.

World Trade Qrganisation came into
existence in the Year :

(A) 1991
(B) 1995
(C) 1997

(D) 2000

Name the author of the book ’Akbc:;lr Nama’.

(A) Al-Biruni
(B) Ibn Battuta
(C) Abul Fazl

(D) Babur

The Slogan ‘Do or Die’ is associated with :

(A) Subhash Chandra Bose
(B) Mahatma Gandhi
(C) Gopal Krishna Gokhale
(D) Bipin Chandra Pal

Yellow colour in a toposheet represents :

(A) Forest
(B) Cultivable land
(C) Open scrub

(D) Water body



51.

53.

54.

a@Rie Qlell® @rReHdIowers
(A)/" BIDWCEL

(B) ©®®EOQM GO6Y

(C) eadlemom cos

(D) @odgle: alymmo

‘60 allgomioo’ mImbeq|gl@lee}

ma) :
(A)  aloeloemo)d
(B) alvdfloo

(©) aupdiailoymodd
gﬁ) caleemmMl

@Sl dhensiafidloje @od ?
@/:;n%m_lr%cd’

(B) wmefleflewo
(C)  ©ag)uss mugmd
(D)  &xhgd

QR0  HORIDAIMND  (al@l@oMVEMERI0
MoROlea)M @RNDBLH alos] :

(M’“ @S¢ omiadl@d
(B) milsoegomindld
(C) dlemomindlod

(D) emdenomiadlod
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51.

52.

53.

The largest latitude :

(A) The Equator

(B) The Tropic of Cancer
(C) The tropic of Capricorn

(D) The arctic circle

‘Kundara Proclamation’ is related with :

>

Paliath Achan
(B) Pazhassi Raja

(C) Swathi Thirunal

g

Velu Thampi

Who invented printing press ?
(A) Gautenberg

(8) Galileo

C) Isaac Newton

D) Kepler

=T

Ihe atmospheric layer in which all climatic
phenomena occur : )

(A) Troposphere
(B) Stratosphere

(C) Mesosphere

E

Thermosphere



55.

56.

a7,

58.

B01WeS a@RQllo aisies ®oafl®  55.

ca6UAl :
(A) e6nayeacnlal
(B) dlemontiem caealel

(g Qnsfem coael

(D) ®&Galoadiem ca6el

HDOMOOQIEZAIWM MoMIhodNmOwfl  56.

MITWEOR|S MEIWIOS EaleXOLI®bb.
(A) eem@d mdl

(B) 6a00®@o658an0 MA

(C)  mflorwy mdl

(D)~ @}langlny mdl

QOMIEHOAW 10D H0a oS ag)@iieoldom  57.

QYo :
(A) 1500
(B) 1490
© 1498
(D) 1510

CHORDTIOL! ODHE) Sl merdavend  58.

Q¥ oR® mEDoY ?
(A) eewel ljads]

(B) alaiom QU jadiS]
(C) moiaOm QUjaHs]

(D) @leesww e
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The hottest temperature zone of the earth :

(A) Frigid Zone
(B) Temperate Zone
(C) Torrid Zone

(D) Sub Tropical Zone

Name the river associated with the
Mesopotamian Civilization.

(A) Nileriver
(B) Hwang-Ho river
(C) Indus river

Euphrates river

Vasco de Gama arrived at Kappad in :

(A) 1500
(B) 1490
(C) 1498

(D) 1510

The south west monsoon rainfall in Kerala
is:
(A) Orographic Rainfall
(B) Cyclonic Rainfall

(C) Convectional Rainfall

(D) Border Rainfall



59.

60.

61.

62.

Qlotdmowd Elattensl emdlsym glaflagies
afloeemd H06M186 M almo i
60ag).@2.0l.ag)M. ®QYo0oEHIM alglds-
o6y :

(A) (@ eflgy
(B)  epjoaey eflqy

@ oo ey

(D) ewegjo efimy

‘8206mMoafl’ enimbeqgSldleaima :
Q(; efl@omodeano avoafsmi
(B)

(©) eensneI0mIGRID

00GaNMD

(D) enoomimmy’

eegldavay’ eelemlows]@d LGN ag0)
cmeuel :

(A) e0emeesid alomo
(B)

(©) oosg allases$my gomisn

800006l alomo

(DY ea@ajosmma agpgjoo

(@20m BOMYEBQISE HERIAOBEMMIENT :
(A)
(B)

@ogRImy

woomall® @jaiso

J|‘

Gg{;oem’

(D) @odenild emvoadgenied
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59.

60.

61.

62,

The list being published by the [UCN to show
information about endangered species is :

(A) Green List
(B) Black List
(C) Red List
(D) Yellow List

The "Monalisa’ is related with :
(A} Leonardo da vinci

(B) Raphael

(C) Michelangelo

Erasmus

The area included in Blended Learning :

A) Online Learning
B) Offline Learning
C) KITE-Victers classes
D) All of the above

Example of three dimensional model :

(A) Atlas

(B) Toposheet

(C) Globe

(D) Marble software




63.  VOMAO) VOOIV(® alBlalUdno MYOCOLO@
HISIWIOS a@®m) ®0o MIAUICWIS)
enITwe|gldleanimy ?

(A)  (ldb@laiono® enijad
(B)-/éu)gcefdﬂmmmomj eyl
(C) MoUIl®alomo® eniyaul

(D) uoelalom® enijall

64. alla@uumornd GMIOWMo (aldWImio
MN@BHIMND)

(A)/Iae:(;g'lce;ggs)s @MY@ OB S 0
0¥ 210 ]0S)HRBH6 0

(B) ®RWPRAIHEN EDS6IAISLIHIDHE)
©) IS BRDHOL HIFPYMN HaICRUETBUDLE)

(D) @OWOalHHM  CM®mI®|aldD0®
alslay

65. HISIHBBIOS QUSMIN®AUo  MVOD)a0)
(ol VA U0 aloloemgd
OWOSIOMOM OERUT LB @alodS@ :

(A) vaw
(B) quallmo
(?j cromudem

(D) meamo
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63.

65.

Student’s preparation of Crossword is

related to which type of intelligence ?

(A)

(B)

Natural intelligence
Logical intelligence
Musical intelligence

Spatial intelligence

Critical Pedagogy gives importance to :

(A)

Learner’s experiences and outlooks

Teacher’s interventions
The advices given to the students

The leadership role of teachers

The portal intented to record the personally

and socially relevant information of

students :

(A)

(B)

(©)

(D)

Samagra
Sahitham
Sampoorna

Sametham



66.

67.

68.

somyleel
N0 IMETBYIOS
)Mo |S)M® :

Wldelo
almoal

A) Agged e/
(B) @@EO (alE)
(C) ellgemd (aidy

(D) eau@d (e}

Moo flds M2a0 2 IRYEWIE alj@em®dEl-  67.

SRIEMIM modTC msallalnsnealsiom
(BN oUladCl® (el :

(A)  emudlmod
(B) @#0GIe@o(0adl

(C) WEMONMMIB(SaD

(D) amo&a&‘d/ I

0maOIRNI@® alom@TI@ @M gl-  68.

B mMilenem.” 600 (lMimoaIm :
(A) wodloemy

(B) @l@odkhoo

(©) oMW aldstaldEi®miaodosy

(D) enlanimyel enl vl @imow
enIMe Sl dleamy.
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| @oEMmem 66.

Who is known as the father of local self
Governments in India ?

(A) Lord Ripon

(B) Lord Mayo

(C) Lord Lytton

(D) Lord Wavell

A problematic act carried to completion in
its natural setting :

(A) Seminar

(B) Choreography

(© Demonstration

(D) Project

“Boys are better in Social Science learning
than girls” the statement is : -

(A) True
(B) May be true
(C) Gender biased

(D) Related to Multiple intelligence



b9.  MOMa0y WO (@AEOW] MmIqweqelg  69. Which statements are true related to the

AW (IIMICUMBHRD afe®mejoo ? study of Social Science ?

(i) VODNY (IUBMETBWSHS (aIOUWIMio (i)  Gives importance to social issues.
MN@HIM).

(i) Sl o &6 N3O (i) Students themselves discover and
alClenemo. learn.

(i) @OUWOAIHM B (BAVAOMN@YT). (iii) Teacher should stand in the central

position.

(iv) #iSlees @O HOoHHIal}DQ 0 (iv) Students should be led with curiosity.
Aflay@eviealss) mallenemo.

(A) (i) & (i) @0@o (A) (i) and (ii) only

(B) (i) & (iii) @o(@®o ‘ (B) (i) and (iii) only

(C) (i) & (iv) @0@0 (C) (iii) and (iv) only

(D) (i) & (iv) momno/ (D) (i) and (iv) only

/0. (W)UETBEIGRINS) Galddh)BNDIN @odhHootd  70. The teaching aid helps to convey the idea

QUIBDETBRD 6)210JBOBIM] ag)(M @DUoQo that the latitudinal circles became smaller
G6NI0WO Q]S EMOMD @D YDMO® when it goes to the poles.

alomaano®l .

(A) eggomff (A) Globe

(B) @ogelmy (B) Atlas

(C) wonomel® Blalso (C) Toposheet

(D) a@ydCd(3 QYETDERUD (D) Concentric circles

1. HiSlHe8 (Vi) OlalenimM®miaoQf] 71. The approach related to the group making

enlaullaflenoamm avdlaimo : among students :
(A)  (HlomeEQlayemo (A) Action Research
(B) a@eldmll alomo ' (B) Case study
(C) momiany momﬁﬂ@mﬁh{/ (C) Social Constructivism
(D) @RWPAIN MO dhdhUd (D) Models of teaching
B-2001 41 D




72,

73.

74.

75.

gladlo e05w@lles) Gl @oUWlE0m0 M@HIM
@oME.2IB0 aR® ?

(A)
(B)
(C) ®@PmMisalco 30

(D) _@myealGo 32/

@PMYe.olc0 15

@PMieolco 19

Y@M alodeload@la) ag® asmalEB
ons ?

(A) e
(B) Y

() mm;/

(D) moef

OV ag)SIHNIM Ao @BWANlHhWIRS
060HWG mldenumwaswio oameowlal-
GHOENB BO6Y :

(A)
(B)
©
(D)

Q00D allmimdeo
9-2fadsiem ozflgpd
Slaflovy momJ@/ )
o). @RR. . mom@d

@Oy 608 @180 Jom U @l @d
Hmleoa  CEMIME)®  MIoH
@RYJOB® afmoeny ?

GARA 610 E30ald SN

HMO 6rUos

(A)
(B)
(C) enioss 80l ERIE0AL

(D)  ®anoad es‘r)_loaafz .
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73.

74.

73,

Which Article provides writ Jurisdiction to
the Supreme Court ?

(A) Article 15
(B)
(©

(D)

Article 19
Article 30

Article 32

How many houses in the Indian parliament
have ?

(A) One
(B) - Three
(C) Two
(D) Four

The document must be kept in hand at the
time of taking classes by the teacher :

(A) Attendance register
(B) Noon - meal register
(CO) Teaching Manual
(D) SRG Manual

Which of the following is not a nationalised
bank in India ?

(A) State Bank of India
(B) Canara Bank

(C) Bank of Baroda
(D) Federal Bank



76.

.

MM ceemeaism  ®Qoossslws
100 Y
_ cmem.

(A)  somlng dlaumd gJoad
206emapismo mldamoem mar{

=

C Dmy@ oty alomo

D) algenw tueamamo

Lomomlmowas aflaioyomad
AoWomymileelseaonm

A) »IGleales @DOCYETRUD
B)  #igldeies s9laamd” |
(©)  #gl810S alomee el

(D) 5ld®B alomalno &6 NSO LM
OBQIB D

DO oGO m6y O®AEETMSIA |
BHODanema :

(A)  all. egyy. emoeeal
(B) ag)o. agymy. uAlad
(C)  ag)a. smoaioaimjoai]

(D) rogassimod s)(mcﬂ/

cLomaem mjowlmlenimn episHemcd
MR ©BOQ|SoTmEDE ?

(A)  @odlelaloem

D

Alom qVMAELE :
C)  (esdalem Lruoﬂuﬂm({

£0M0%o @ROM@|Ho

o
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76.

1T,

78.

79.

Constitution of India is framed by

(A) Cabinet Mission Plan
(B) Constituent Assembly
(C) Indian Independence Act
(D) Round Table Conference

Assessment for Learning gives less
importance to :

(A) Needs of students
(B)  Abilities of students
(C) Learning style of students |

(D) Mistakes found out by the students
themselves

Name the first Chief Election Commissioner
of India.

(A) V.S, Ramadevi
(B) M.S. Gill
(€) N. Gopalaswami

(D) Sukumar Sen

Learning is not influenced by :

|

|
(A) Motivation l
(B) Learning readiness
(C) Projective techniques

(D) Classroom environment




80.

81.

82.

83.

#0921 aldlaleleias 1Sl a®®oo
@l lSmoaT) @oMEILRie ?

(A)
(B)
©
(D)

2aHSI@ @JalSo
BV BJalSosf
Blladdry®il BlaliSo

@ogelmy

emlem somimdglen @ewisum :
(A) ©ondlsaliefl

(B) meommtwmy

(C) ®altoad(Salw

(D) @

alomadflen afladioemed agmemoos
MNINWOR|S Maldo ap® ?

(A) @ Slovdgisains monmajo

By @mwpalla@es dleme aleiioy-
QoI B

(C) mgloes Mo allaidieemad
(D)  eadmoalen alaciemmad

qoom mldem@@Bln @eaimio sl
GOEUMUD :

(i)  @OHHICCDEOEUSBID
(1)
(i)

(iv) /@OR0aH(S Elmosensy

BOEUICUBOEUBD

@LOWEO6Y

(i) & (ii) @o(®o
(B)
©
(D)

(i), (ii) & (i) @o@o
(i) & (iii) mo(@o

(iii) & (iv) @o(@®o

KB-2001

44

80.

81.

82,

83.

Which type of map is better for a visually
impaired student ?

(A) Political map
(B) Physical map
(C) Relief map
(D) Atlas

Chairman of the Union Cabinet :

(A) President

(B) Prime Minister
(C) Vice President
(D) Home Minister

The indicator related to Assessment of
Learning :
(A) Comparison of school results

(B) Continuous Assessment of teacher

(C) Self-assessment of student
(D) Assessment of parent

The essental lines needed for location :

() Latitudes
(i)
(i)
(iv)
(A)
(B)
©
(D)

Longitudes

Equator

International Date Line
(i) and (ii) only

(i), (ii) and (iii) only

(ii) and (iii) only

(iii) and (iv) only



84.

85.

omaom ® &l oY) @ O B D
al00allV®do  MYOOIHHIM®IDOD]
enimwen]g qudlef :

(A) mimog

(B) o6da
Lj;zf/ ag)™y. 0¥, 6. @R, €

(D) o Ulled, CHogo

KITE - & aljdemaalo :

\W{é&)mg 6D (00N (S 2l® @D
OSHEMIBE] BaNdD af)UNESE UMD
(B) GHOE HMOaNOIBCMaUM @I
OSHEMORZ] 6andd ag)EsaHd
(C) eHO8 MHMOHANIDEDUMD @D
ESHMBO@ af)WPEHHAHTD
(D) GHO8 DM (QNIMI (S old @
OSHMILO@ 0NI0AINGA IaHd

86. m:)osq”Lsaﬂmomm@gas B3 UsHLlalMmo
‘(A) oaH(So
(B) 0@y mildQianem alleowo
(C) oloadldomosm afl@owo
(D) oflall ofldjaoem afl@owo
KB-2001

45

84.

85.

86.

The agency dealing with the textbook
preparation for schools :

SIEMAT

KITE

SCERT

Samagra Siksha, Kerala

The full form of KITE :

(A) Kerala Infrastructure and Technology
for Education

(B) Kerala Information and Technology

for Education

Kerala Information and Technical

Education

©

(D) Kerala Infrastructure and Technical

Evaluation

The central concept of politics is :

(A) State

(B) Executive
(C) Legislature
(D) Judiciary




87.

88.

89.

90.

4D)

®06¢ eH0sS)Eclenimaieiad snnmy-
loal aloaleggaidlele adaieq|gnides
Gy BIB® 90a] UMMM alEL
a6 ?

(A)  @oMaljdem

(B @neomyoa® @amemozm

(C) . oo esx6M alRLEI

(D) mocwogdlm wilupyallemum alabad

alomemgomlond  mallerau®m sl
OROQ|SOTHE®® ?

(A) @b ML
(B) @R&HHOIME
(C), emslowsyenoaMae

.IIIl
o

2109 6.21Q0AME

AU HOIWO (el @latodlaeiom
@OMNIE.LIB0 B6)ENBED) 1.

(A) @PmMieslco 21
(B) Mie2lBo 19
Amg@%eo 14

(D) ®oMiealco 23

“afl@ealo@wleaicajoeal  aldlafleay”’
(Teach Like Finland) ag)mm aljci®dso
Q)L @mOR ?

( aflemo®rs all. AoLed

(B) ool crvoadenudes

(C) eeemoal all.

(D) w@capmom @od.

-00o0-
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87.

88.

89.

90.

Which of the following ensures food security
to the poorest among the poor in India ?

(A) Annapoorna

(B) Antyodaya Anna Yojana

(C) Midday Meal Scheme

(D) Integrated Child Development Scheme

Which one is not considered as the

peculiarity of Learning Outcome ?
(A) Observable

(B) Measurable

(C) Attainable

(D) Debatable

Identify the Article which provides Right to

., LT
Egiainiv.

f \ A il
C- SAREE T -E‘

| :-'-\ | .ALI‘T‘I;C].E‘ :3

“Teach Like Finland’ is written by :

(A) Thimothy D. Walker
(B) Pasi Sahlberg

(C) Lemov D.

(D) Raghunathan R.

-000o0-
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